Lisdys enintdén 5 (vaaka)

Nimi: Piivimédrd: _____ Pisteet: ___
2+4 = 5+5= 3+4= 4+4 =
442 = 3+4= 5+4= 443 =
3+5= 2+3= 3+3= 5+4=
3+2= 4+5= 2+4= 1+2=
5+1= 2+2= 1+5= 5+3=
242 = 2+4 = 245 = 2+2 =
2+4 = 2+1= 5+1= 2+3=
1+1= 3+4-= 5+2 = 1+2=
3+2= 3+5= 4+1= 2+4=
3+3= 4+4= 542 = 2+41=
445 = 4+3 = 5+3= 5+5=
1+1= 4+4 = 1+5= 3+5=
344 = 1+3=
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Lisdys enintdédn 5 (vaaka)

Nimi:

2+4=6

4+2=6

3+5=28

3+2=5

5+1=6

2+2=4

2+4=6

1+1=2

3+2=5

3+3=6

4+5=9

1+1=2

3+4=7

5+5=10

34+4=7

2+3=5

4+5=9

2+2=4

2+4=6

2+1=3

3+4=7

3+5=28

4+4=38

4+3=7

4+4=23

1+3=4

3+4=7

5+4=9

3+3=6

2+4=6

1+5=6

2+5=7

5+1=6

5+2=7

4+1=5

5+2=7

5+3=28

1+5=6
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Paivamaara:

4+4=38

4+3=7

5+44=9

1+2=3

5+3=28

2+2=4

2+3=5

1+2=3

2+4=6

2+1=3

5+5=10

3+5=28

Pisteet:
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